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X, 3% X = ]
%, - 9%, + 2%, = -1
=3, —6x, = -3

a convex set. Show if C = {x.; 2x, + 3x.

R* is a convex set. (5)

how that the transformation defined by T(x;. x

;—-3*;2, X, + 4, 5x,) is not linear. (3)

Find the characteristic polynomial-of the following
(3)

“and b ., ir-l-Bﬁ be two

e dot product of these

(3)

> Ve "’-" (4' I, -2

basis of R'.
= (58
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. h n ar urthnnnrmal basis fﬂrth atiop Progess

hythe vectors, (1, |, . Space of

W I
-L_.. h(2,0,0)

(8)

In d

' [—1 J' (7)

p ce Let Y be the'set of vectors
«,ﬂ b, G‘J Prove that v jq

$ @\f {.sm

di ergEnce for the following
(7)

finite matrix? s the following
' (8)
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ceeps two-thirds of its investors, iy, the

witching equally to Banks A 4,4 C

k € keeps half of its investors, wigy

inder switching equally to Banks A and

e distribution of investors after two

(8)
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